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ECE 3055 Quiz - November 6, 2002

:)_P._k, s, [Probl 1-3. Determine the number of page faults that will occur in the following page reference string assuming 4
2 ks ﬁ'aE@ frames are available. All frames are initially empty.
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2. With the LRU algorithm, __| ( ) page faults will occur.
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3. With the best possible algorithm, a minimum of 8 page faults will occur. A

A p-{-g : 4. (True or False) F Increasing the number of physical memory page frames will always reduce /
: the number of page faults for a given page reference string. B’Q { a i § 7 ls QAnGvia | \/ P \ 3 / L‘i .

5. What is thrashing and how can an OS attempt to prevent it? Explain + .
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